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Q1l).Select the set of numbers that is similar to the
foIIowmg set {9,54,6} &I & 30 FH=IT H AT A

faeifafad I {9, 54, e}a;mg’n

o B m’l s (B

(c) {7 m 12}
(5) 35







Q2).Select the set of numbers that Is similar to the
following  set {5,10,17} H&ARM & 3¥ FHATIT H AT 3T

gl e {5,10,17) & F &1 CO®
(a}26,50,65}« (5, 10,13 [s 1o ]

(b){17,35,72}<

(c{37,50,65) -  lowr =3 .z 2
(d){24,35,48} ¢ R
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Q3).Select the set of numbers that is similar to the
following  set {8,19,30} WE&IM3IT ¥ 3H FH=AT &l AT A

THEY {8,19,30} F AT &l Y @

(a){11,24,38) <_ z%’ (Do | e
(b){9,20,35} | | *
(c){12,25,38)- & @ +3 ,
(d){6,21,32) 3% .
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Q4).Select the set of numbers that is similar to the
foIIowmg set {8,27,64}
3#3;3$ra$raﬁ1za’rﬁmﬁ@?rm—crzr{82764}

?EI ;I |g§1'!1? Z% r 13, é"(}
(a}{0,27,64) =< Yoo e
(b){64,125 196}’(< 2* & 3t o
(c){125,216,64) <. 02 G
(l)t/" 01, L 12¢ 26 6y (
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Q5)6elect the set of numbers that is_similar to the
following set {7,19,13} H&A3 & 3¥ FH=AT & T N

fArfaf@a ae=aa {7,19,13 aumr.rg*“

(@ {3, 51, 6} = D

(b) {8, 1% 9}

¢y {7, (38) 12} | ?""%) =~ -(B) @
(d) {5,@ 7} 4»!!2,:@ @ C
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Q6.®{7®16®31}// W s
(2)(10,19,28= s z__:hu) <
(b)(23,31,48) —

(c)(29,57,96) + )i : (o0
(d)@’gfg’?%)e 3 (ue
Gry >18 _
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Q7. {18,56,30}
(2)(17,05,10) =_
(b)(23,41,7)<

(€)(29,58,40) —
(d)(34,58,40) —




Q8. {87,56,30}
(2)(29,18,9) } 6% . 5C, 30

(b)(59,45,20)«/’ X¥ = §§ S¥6 = 30
(c)(63,18,8) [pr=e ere)
(d)(73,21,19)




Q9. (23(136)45) e - (5D)
(a)(19,96,29) — "
(b)(31,126,37) . ‘F y
(c)(17,50,33)<  (23) "¢ (&

(d)(29,78,11)
23t%<$ = 6B X2
13433 = SOX7Z :®




Q10. (7,46,340)
(a) (4, 28, 68

(b) (8, (68, so)c; <
©) (5, 22,d30)~

oy (15,@372
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Q11). Observe the following pattern and answer the
given question. LB:KJ::ND:? #=i{af@d deat &t & & ¢
3 AU 1T g2 & 3o &I LB:KJI::ND:?

(a)DE i Y 3
(b)QP " R aQ p
(C)IH— L M N O

(d)HI K<~}{ J <> H G







Q11. (12, 27, 9)

(ay (14, 21, 6)— (@ (2+
(b) (15, 52, 13) Y

(c) (11, 21, 7) —

d) (5, 18, 8) ~F




Q12. (15, 49,151) — N\

(a) (6, 18, 37) < 49, |
gb; (17, 55, 155) |S¥2+ Y= 49
C (25, 79, 137) GaRz+y = [$]
(5, 19, 61) — =
sz +u =19

(ﬁﬂg £y iég




Q13. (84 , 60 , 51)
(@) (64, 80, 72)
(b) (80, 98, 69)
(c) qsé, 56, 62)
(d) (52, 64, 47)
L U9 £10 = 69

[]
C

(M
—




Q14. (4, 6, 52)

(@) (3, 5, (34) —
(b) (5, 7, 72)

(c) (6, 7, 95)
(d) (7, 9, 120)




(@) (64, 58, 42)
(b) (98, 68, 86)
(c) (78, 40, 88)
(d) (48, 31, 76)




Q16. (25,90,81)

() (4 20, 64) (>
(b) (0, 0, 256)

(c) (121, 242, 10)

(d) (16, 222, 225)




